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Solve the following:

1. In the triangle OBD, — =ais 1 of the length of —,
0A 4 OB

— = cis=of the length of — and E is the midpoint of BD.
oc 2 oD

Write down, in terms of a and c:

a) — B
OB

/ Not drawn
b —) ~ to scale
) = L ] l

c) — .
|
BA O |

d — ¢ b
AB

e) —
AC

f) —
OE

2. OACB is a trapezium N

M and N are the midpoints
of AB and AC. Prove, using
vectors, that MN is parallel
to OA. OA-a  OB=b

3. OXYZ is a parallelogram

XP:PY=1:3Z2Q:QY=2:3Mis
the midpoint of OY

(a) Write P—Q> in term of a and b.

(b) Write o intermofaandb. ox=a  0z=b
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